INTERNATIONAL TALENT SEARCH EXAMINATION

2024 - 2025 PRACTICE PAPER

CLASS -8 ( MATHEMATICS )
SET-C
Tick the correct one —
(a) 9758 <8579 (b) 7598 < 7958
(c) 7598 > 7958 (d) 5978 = 8795

5, 946 tickets were sold on Friday and 5, 887 tickets on Saturday, on which day were more
tickets sold? Tick the correct one.

a) 5946 < 5887 (b) 5946 > 5887 (c) 5846 = 5887

Tick the correct ascending order —

(a) 2015, 1058, 9358, 7042 (b) 5492, 3813, 7600, 5290

(c) 1500, 6794, 8030, 9999

Werite the smallest 4-digit number using 0 and 5. These may be repeated.

(a) 5000 (b) 5005 (c) 005 (d) 500

Predecessor of 8000 is —

(a) 8001 (b) 8010 (c) 7999 (d) 8002

The place value of 8 in 5480 is -

(a) 800 (b) 8 (c) 80 (d) 8000

In which number does the digit 8 have the greatest value?

(a) 1580 (b) 8350 (c) 9358 (d) 7852

The greatest even number formed by the digits 9, 0, 2, 8 is —

(a) 9820 (b) 8029 (c) 8209 (d) 2089
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The number shown on the spike abacus is:

a) 385 b) 538 d) 358
10. The expanded form of 798 is:

a)70+90+8

b) 700 +9 + 8

c) 700 +90+8

d)7+9+8
11. 800+9=

a) 89 b) 890 c) 809 d) 8009
12. 10 more than 567 is:

a) 577 b) 557 c) 667 d) 570
13. The predecessor of 1000 is:

a) 990 b) 1001 c) 999 d) 1000

14. The place value of 2 in 428 is:

a) 2 b) 20 o)1 d) 28

15. The number having "3" in the hundreds place, "5" in the ones place and "2" in the
tens place is:

a) 325 b) 253 c) 532 d) 352

16. How many beads should be removed from the hundred's place in the abacus shown

here, if it has to represent a number between 500 and 600? = 1 o
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a)3 b) 5 c)2 d) 4

A boy likes He does not like

22 \Which of the following number does the boy like?

a) 576 b) 256 c) 625 d) 474

18. Which symbol should be written in the box below to make the number sentence
correct? : ‘”Dm

a) > b) = c) < d) All of the above

19. Which number is 1 less than 500?

a) 499 b) 501 c) 599 d) 600

20. The least number among the following is:

a) 246 b) 462 c) 264 d) 426

21. What number is 10 less than 205?

a) 185 b) 105 c) 215 d) 195

22. Write the place value of 5 in each of the following.

(a) 7531

(b) 5948

(c) 4592

(d) 7375

23. 276+522=

(a) 708 (b) 798 (c) 808 (d) 898

24. Choose the correct digit from the given options to replace the * to make the given
number statement true. 325 + 1*5 = 500
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(a) 5 (b) 7 (c)6 (d) 8
25. Which two numbers add up to a sum greater than 1000?

(a) 450 and 545 (b) 999 and 1 (c) 893 and 100 (d) 989 and 12
26. Rohan wrote a number that is five thousand one hundred eight greater than three
thousand two hundred twenty-nine. What number did he write?

(a) 3229 (b) 5108 (c) 8337 (d) 8327

27. 1000 + 8898 equals to
(a) 9898 (b) 8998 (c) 9998 (d) 9999

28.  Subtracting 0 from any number gives the

(a) previous number (b) 1 (c)o (d) same number
29. 800x5=
(a) 400 (b) 4000 (c) 4400 (d) 440

30. Any number multiplied by 0 is always

(a) 0 (b) 1 (c) 10 (d) 100




